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Antarctica is perhaps the one place on Earth no one would

have expected __ (1) __ canyons .And yet , scientists were

surprised to __ (2) __ deep crevices that run for hundreds of

kilometres . __ (3) __ they are not visible at the snowy surface

, __ (4) __ trenches cut deep into Antarctica .The biggest __

(5) __ canyon is over 350 km long .It’s called ‘ Foundation

Trough’. (6) __ canyons are not as long , but they are __ (7) __

too .

Q1. (a) find (b) found (c) finding (d) to find

Q2. (a) invent (b) discover (c) explore (d) search .
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__ (3) __ they are not visible at the snowy surface , __ (4) __

trenches cut deep into Antarctica .The biggest __ (5) __

canyon is over 350 km long .It’s called ‘ Foundation Trough’.

(6) __ canyons are not as long , but they are __ (7) __ too .

Q3. (a) in case (b) although (c) because (d) since .

Q4. (a) this (b) these (c) those (d) them .

Q5. (a) one (b) such (c) like (d) so .
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The biggest __ (5) __ canyon is over 350 km long .It’s called ‘

Foundation Trough’. (6) __ canyons are not as long , but they

are __ (7) __ too .

Q6. (a) another (b) other (c) previous (d) present.

Q7. (a) exciting (b) impressive (c) inspiring (d) intense .
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These canyons were found with the help of radars __ (8) __

scanning the wide expanse of the frozen continent . (9) __ are

incredibly important because they help control __ (10) __ flow

of the ice .

Q8. (a) when (b) after (c) before (d) until .

Q9. (a) them (b) that (c) they (d) this .

Q10. (a) such (b) the (c) one (d) a .
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Q1. Identify the segment in the sentence which contains
the grammatical error.

A number (a) / of article is (b) / purchased (c) / by
Ramesh .(d) / no error (e)
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Q2. Identify the segment in the sentence which contains
the grammatical error.

No source of (a) / energy is so cheap as (b) / solar
energy (c) / in the present age of energy crisis .(d) /
no error (e)
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Q3. Identify the segment in the sentence which contains
the grammatical error.

No sooner (a) / did he saw (b) / the traffic policeman
(c) / than he wore a seat belt.(d) / no error (e)



15

Q4. Identify the segment in the sentence which contains
the grammatical error.

John, I and Hari (a) / have finished (b) / our studies
(c) / today .(d) / no error (e)
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Q5. Identify the segment in the sentence which contains
the grammatical error.

He (a) / has many works (b) / to do (c) / now .(d) /
no error (e)
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Q1. Select the most appropriate synonym of the given word.
EXACERBATE
1. Aggravate
2. Calm
3. Pacify
4. Soothe
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Q2. Select the most appropriate synonym of the given word.
ESPOUSE
1. Reject
2. Dislike
3. Oppose
4. Embrace
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Q3. Select the most appropriate synonym of the given word.
HAMPER
1. Cruel
2. Compassionate
3. Inhumane
4. Maleficent
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Q4. Select the most appropriate antonym of the given word.
PIONEERED
1. Apply
2. Use
3. Abolish
4. Continue
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Q5. Select the most appropriate antonym of the given word.
RECALCITRANT
1. Amenable
2. Uncooperative
3. Intractable
4. Unmanageable
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Q1. Select the INCORRECTLY spelt word.
1. Recalibrate
2. Reiterate
3. Putative
4. Pertinent
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Q2. Select the INCORRECTLY spelt word.
1. Retaliatory
2. Retrospedct
3. Scrupulous
4. Rhetoric
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Q3. Select the INCORRECTLY spelt word.
1. Speculation
2. Specificity
3. Soverignity
4. Suffice
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Q4. Select the INCORRECTLY spelt word.
1. Subvert
2. Styme
3. Stutter
4. Stunting



28

Q5. Select the INCORRECTLY spelt word.
1. Turmeoil
2. Transient
3. Unanimously
4. Conscious


